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(kg/cH/ ) (kg)
FAl SO 1,000 10 116 11,600 19.8
FAlS3H 500 2 15.0 7,500 12.8
A 1,500 12 - 19,100 32.6
 (RAIZ3]E]) 19963(g/) x 6(h/Y) x 125(2L/H) = 15.0(kg/tH/H)
e (RAIZO01Z4) 15471(g/h) x 6(h/Y) x 125(Y/d) = 11.6(kg/ch/H)
wee KAIST(1998) 50H CH7 |2 220 chelgt &1A4H|8 MEXIE E8A| o H[HX|(PV)
kg 171,528% Alz[A H|E 2
O #FAIEZ 8% gil
= X | xA3H SLLELLE c=x7l H|E
T @) | (m) | A |z | T,
(L/cH/ ) (L)
FAlSo A 1,000 10 1,470 1,470,000 39.6
FAlS3H 500 2 990 495,000 6.4
A 1,500 12 - 1,965,000 46.0
* 191.1.71& 21yl A7 1LY ot 1,272.42&
% 1CHE 2t 257 EAM(AEHS) (Eh9] : L, tCO2-eq/tf, kg)
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TE My | dzwlg | Mz | Mzele | mzer | dzwle
FAlSAHA | 147008 | 29.9% | 38=/MH A954% | 11.6kg/tH | A100.0%
FAI S35 990L/cH A85% 2.5&/ch A82% 15.0kg/ti | 298.6%
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